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Dominant and Recessive Traits( Genetics 101)
Introduction:  Define the following       In your own words!

Gene:
Allele:
P1:
F1:
F2:
Dominant:

Recessive:
Homozygous/ purebred:

Heterozygous/ hybrid:
Phenotype:

Genotype:
Punnett Square:
Practice Problems:

Use the following traits and symbols to complete BOTH tables below:

Seed shape: R=round



r=wrinkled

Seed color: E=yellow



e=green

Pod shape: H=smooth



h=wrinkled

Plant height: T=tall




t=short

Flower position: A=axial



a=terminal
	Trait
	Genotype
	Homozy/Heterzygous?
	Phenotype

	Seed shape
	RR
	
	

	Seed shape
	Rr
	
	

	Seed shape
	rr
	
	

	Plant height
	
	Heterozygous
	

	Pod shape
	
	
	wrinkled

	Flower position
	
	Heterozygous
	axial

	Seed color
	
	
	green

	Plant height
	
	Homozygous
	tall


Write the correct symbols for the following phenotypes.  

	Pure tall plants
	
	Homozygous yellow seeds
	
	Short plants
	

	Green seeds
	
	Terminal flowers
	
	Homozygous wrinkled pods
	

	Pure round seeds
	
	Homozygous axial flowers
	
	Hybrid axial flowers
	

	Hybrid tall stems
	
	Hybrid round seeds
	
	Heterozygous yellow seeds
	


Complete the following genetics practice problems.  Show your work and put a BOX around your answer.

1.   In summer squash, white fruit color is dominant and yellow is recessive.  A squash plant that is homozygous for white is crossed with a homozygous yellow one.  Predict the appearance of  the F1 generation. 

2. From the above problem, Show the offspring of a cross between an F1 individual (above) and a heterozygous white individual.

3.  In sheep, white coat is dominant and black is recessive.  Occasionally a black sheep appears in a flock. Black wool is worthless.  How could a farmer eliminate the genes for black coat from the flock?  THINK!!
4.   In garden peas, tall vine is dominant and short vine is recessive.  If a homozygous tall plant is crossed with a homozygous short plant, what genotypes are possible in the F1 generation?
5.   A child of two normal parents has albinism a recessive trait, what is the chance that a second child will be born an albino? Remember, EACH time a male and female conceive a child the “odds” are the same.
